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Which statement is true about Java?

a. Java is a sequence-dependent b. Java is a code dependent programming
programming language language

¢. Javaisa platform-independent d. Java is a platform-dependent
programming language programming language

Identify the incorrect constructor type.

a. Friend b. Default

¢. Parameterized d. Copy

Dala members and member functions of a class are private by default. True or False?

a. Depends on code b. True

c. False d. None

Under which pillar of OOPS does base class and derived class relationship come?
a. Polymorphism b. Encapsulation
¢. Inheritance d. Abstraction

What is Inheritance in C++?

a. Deriving new classes from existing b. Overloading of classes
classes
c. Classes with same names d. Wrapping of data into a single class

What is the value of a in below program?
int main()

{
int a, b=20;

a=90/b;

return 0;

]

a. 45 b. 4.0

c 4 d. Compilation error

Which operator cannot be overloaded?
diat B
[ d.

class Mycpp

I'

int main()
{
Mycpp obj;
return 0;
!
a. Nothing would be printed
¢. Undefined

—

b. Compilation error
None of the above
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What is the scope of the variable declared in the user defined function?
a. Whole program b. Only inside the {} block
c. The main function d. Header section

What is an inline function?

a. A function that is expanded at each b. A function that is called during
call during execution compile time

¢. A function that is not checked for d. A function that is not checked for
svntax errors semantic analysis

Which of the following feature is used in function overloading and function with
default argument?

a. Encapsulation b. Polymorphism

¢. Abstraction d. Modularity
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